


BEERTINGT S5

Erkind



R P 5 pHE 5
\ & 8 1% .
gk 2 dRd t
FERTIER L aerme)
’%i,ﬁl?}(?ﬁ' -3 1=t |
v - FA f;% AT
’ s PR sz —
S e =21 2 1=x ,
2R (5 = §24 pF) '
‘ﬁ#iﬁ
D TATE B
HRITIE BGE (T AR F fRiT K }F
e TR ¥l 24
HE 5 Jr B | PEE R _
B% B~ KB % O T
S SN X 1 @Fiﬁﬂ%k ,{,
Eeab o & F 1= [\L';J*;ﬁ__. //E% | f’
B % F1=




BBEEFRFHHNTAH

58.0~68.8 dB(A)2. & » L__ 2

max

@ 4 %+68.0~78.5 dB(A) 2 & -
Eeeq g AlRE



4 % 5k AT R
, FmS e | 8 Rk PIEE | PRARRY S ke
2 f - 1 RGN IWIBE L g
] - % 142 -
%15 AR o 1 4% 21 14 His a4z His a4z
80 80 80 80 80
Leq
o 5 g 63.9 65.9 58.0 63.0 68.8
BENEE &
”|7% B 100 100 100 100 100
Lmax
75.4 74.6 68.0 73.2 78.5




TRE R

EHRAE

FTERG ERFFLPFLR)

v EERE T PSR
i FERE T PRIL, a0 BE A
36.4~54.8 dBz R » L, A 45T 328 2_ ]
& 4 %+30.0~36.3 dBz ¥ » L, A 48T 35
B2 P E 4 >+30.2~34.8 dBz FE’?‘ AR



. R g B R R RS T T T
R 1 . . L, A
i o @1 | Ene 1 ' A AR
L A HisaAg IR Hiwa4e His 142 Hisa4g
B 5
Lymax (dB) ﬁi"?] s 42.2 53.0 53.2 36.4 54.8
E /R B
S 2 2 % B 7
B = %ﬁ" X ’b& B # &
Lyio (dB 30.0 33.9 31.2 30.1 36.3
P78 B vio {B) 1 "
B3
Lyeq (dB) ﬁi ol = 30.4 33.0 33.1 30.2 34.8
E /R B




% 5

7R ?‘r(%l HEF1IW%)
o G- 2L
m /EJ“‘F’ ‘g?

ERFHEAF

= &

ST R ST QAL ST SE R
4B RITE P RO A Aok RIE o
el
7§ cwmr | 0T | ke
A 1TAE R H = 97.05.21
kR T 29.3 <38.0
pH — 8.6 6~9
¢ ¢ R Color unit 37 550
R % 7 A mg/L 25.0 30
4irzid mg/L 105 30
t233 2 mg/L 29.0 100
M g mg/L N.D.< 1.94 10




S E e S

YEPRRRE

)
4
>
g

Ll £ RIS o
g = ,Eer Z 21 " 1= ,
T (5 = b 24 ) )

& F1=
(& =i F24-) pF)

X i 5 %1x

T ,‘:‘ )
4 - — | m T -, . ..-.: I. [ -::.;
Hein ok & £1x /1 ) k\_ almit e 19
L - T
Ly ) L A _J :'-_
g N\ F 50
; \ by

Foe okl %1%
£ PPTH ;
(Wl

y e & £1=%
iy F TR, 2 TE I
:é(f:a , @ﬁgg_ B116-] ,;g})J A B SEERLE

oK wemmm

S HiriA A B

\‘{:‘H_,f\l \\q_ N\ W’\ e

T



B TR

FeoE G
/ vl T
TR R (8
c BBl
o N SId E-A Br-

e,L:i—-#’% ’/’7’-’,;(,%

10



97.05.07 97.05.14

97.05.21

97.05.28

. mho/cm
6000

5000
4000
3000
2000
1000

EExy Y o

2820

97.05.07 97.05.14

97.05.21

97.05.28




N

o

3 ’%C/n'-’}‘)?‘ Ed d RERIFFARE RS

Color unit s s BT — - - kE R R
600
480 TR R 1 E ¢ ¢ & <550 Color unit
360
240
120 +
<25.0 <25.0 <25.0 <25.0
o L o | | e A
97.05.07 97.05.14 97.05.21 97.05.28

oL CE R R E Rl B e yn R R —--— - DRIESR LR TR
35
30
o5 2mogn R R R R I3 T A48 <30 mg/L

s o= I ]\rgﬁ-ﬂ;a’.zg DR 5 F1 8 = 20 mg/L

20 e -
15
10 6.0

5 aa 4.2

| R B

97.05.07 97.05.14 97.05.21 97.05.28

12



e R R ek R — - — - TRPE R GE KR R

ook FHRE 2 4 i f § £ <30mo/L
TR R R 2 - F B =

4.6 4.7
— 2.6
s P e
97.05.07 97.05.14 97.05.21 97.05.28

n,g/L & NN ‘3; E B TE
40

32

24 |

16.9
16 -
i - 6.82
o . i

97.05.07

97.05.28




mg/L s T P e veim ok TR —--—- TRk on ok B R
120
100
o T
60 |- vk ok FHRE C g § R <100mg/L
Wime i ok TR LG F R = 80mg/L
40
19.2 16.7
- : 15.
. i Bl =
- - I
0]
97.05.07 97.05.14 97.05.21 97.05.28
my/L B e rn TR — - - kR ok R
12
s ok R g 7 < 10 mg/L
1 1o J S T
8 -
6 -
4 -
5 N.D.<1.94 N.D.<1.94 N.D.<1.94 N.D.<1.94
G B = .
97.05.07 97.05.14 97.05.21 97.05.28




/ vba
E TN o ’ L - N
zl& iR BT-A s T RIS
mg/L EEEEE 4 opl B — - - TgncR R R
1.2 2o R R 0 45<1.0mg/L
10 —m--—-- — -- — - — - - — - f — - - — - — - — - - — - - — - -
0.8
0.6
04
0.2
N.D.<0.035 N.D.<0.035 N.D.<0.035 N.D.<0.035
0.0 L Sy ————7 =] | s R
97.05.07 97.05.14 97.05.21 97.05.28
EEEE 45 7 R B —_— = =Sk nk B
mg/L
0.12
0.09 |
0.06 T o ROE R 2E 0 45 <0.03mg/L
003 —--—-- — - - — - — - - — - — - - — - — - - — - — - - — -
N.D.<0.004 N.D.<0.004 N.D.<0.004 N.D.<0.004
97.05.07 97.05.14 97.05.21 97.05.28




mg/L N g ge TRl @ — - - kiR R
2.4
50 ek PR T 445 <20mg/L
1.6
1.2
0.8
0.4

N.D.<0.016 N.D.<0.016 N.D.<0.016 N.D.<0.016
0.0

97.05.07 97.05.14 97.05.21 97.05.28
mg/L 4 TR B — - - 2m R RO
3.6
3.0 - 2% jmeade B P e m b <0Gl - e— - - — e — - - — - -
2.4
1.8
1.2
0.6

N.D.<0.009 N.D.<0.009 N.D.<0.009 N.D.<0.009
0.0

97.05.07 97.05.14 97.05.21 97.05.28




g a2l Z+ F 77 A
7 F/F h:/] 7% I~ 2 %
7 SR T i PR %
/]l / ) \\‘P

mg/L B g T opl E 0 — - - 2k ok F R
6.0 ok R 1 4 <5.0mg/L
BO - = — = = — = & — e e e e e m e — ek — - — - -
40 |
3.0 |

2.0 |

1.0 |

0.03 0.05 0.04 0.02
0.0
97.05.07 97.05.14 97.05.21 97.05.28

mg/L B T op i — - - 2k ok R
0.60 A ok B R 0 e < 0.5mg/L

050 I - = — = & — & s e f ek f e ek e ke e e e m e e e — e e — o
0.40 +

0.30

0.20 +

0.10 +

N.D.<0.0046 N.D.<0.0046 N.D.<0.0046 N.D.<0.0046
0.00
97.05.07 97.05.14 97.05.21 97.05.28

17



J# %

7o R

&0 AR 42 RAE RIS R

mg/L B 4y % op] B — = = 2k BRI
1.2
2 ok B R 1 45 <1.0mg/L
1.0 --— - - — - - — - — - - — - - — - - — - — - - — - - — - - — -
0.8
0.6
0.4
0.2
N.D.<0.016 N.D.<0.016 <0.05 N.D.<0.016
0.0 |
97.05.07 97.05.14 97.05.21 97.05.28
mg/L B A p) i — - - kg ok R R OE
0.006
S SPEg U %, & < 0.005 mg/L
0005 M -=-— - — - - — "-— - = — - - — - - — m—— - - — - - — - — -
0.004
0.003
0.002
0.001 r
N.D.<0.0002 N.D.<0.0002 N.D.<0.0002 N.D.<0.0002
(00070 0 NI - T == T = I - R
97.05.07 97.05.14 97.05.21 97.05.28

|._\




mg/L
18

15
12

o W o o

- 4.63
-3.85 - = B




LR G2 S S



